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ÿoˆÁTˆEı YÁPˆy‘] ◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á 

(B.D.P. Term End Examination) 
◊Qˆ„a∂ëˆÃ[˝, 2017 C L«X, 2018 (December-2017 & June-2018) 

B◊¨K˜Eı YÁPˆy‘] ( Elective Course ) 

\…ˆ„GÁ_ ( Geography ) 
V`] Yy (10th Paper) 

Geography of Population : EGR-10 
a]Ã^  f V«c˜O H∞RÙOÁ (Time : 2 Hours) 

Y…SÔ]ÁX  f 50 (Full Marks : 50)  

]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% (Weightage of Marks : 70%) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

◊[˝\ˆÁG - Eı 

1* Â^ ÂEıÁX V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 10 × 2 = 20 

 (Eı) LXaeFÓÁ \…ˆ„GÁ„_Ã[˝ Y◊Ã[˝◊W˝ C ◊[˝bÃ^[˝ÿô«ˆ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 

 (F) Y ◊U[˝›Ã[˝ ◊[˝◊\ˆ~ ÿöˆÁ„XÃ[˝ LXaeFÓÁ [˝≥RÙO„XÃ[˝ TˆÁÃ[˝Tˆ„]ÓÃ[˝ 

EıÁÃ[˝Sm◊_Ã[˝ AEı◊ªRÙO ◊[˝[˝Ã[˝S ◊VX* 

 (G) [˝Ã^a ◊YÃ[˝Á◊]Qˆ ◊Eı ? =~Tˆ C =~Ã^X`›_ ÂV`m◊_Ã[˝ 
[˝Ã^a ◊YÃ[˝Á◊]„QˆÃ[˝ %ÁE ı◊TˆGTˆ YÁUÔEıÓ C TˆÁÃ[˝ 
EıÁÃ[˝Sa]…c˜ [˝ÓÁFÓÁ EıÃ[˝”X* 

 (H) Y◊Ã[˝^Á„XÃ[˝ =VÁc˜Ã[˝Sac˜ Ê`“S›◊[˝\ˆÁG EıÃ[˝”X* 
◊[˝\ˆÁG - F 

2* Â^ ÂEıÁX ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 3 = 18 
(Eı) LXaeFÓÁ \…ˆ„GÁ„_Ã[˝ aÁ„U %XÓÁXÓ a]ÁL ◊[˝p˚Á„XÃ[˝ 

a+„EÔıÃ[˝ ◊[˝b„Ã^ ae◊l˘ä ªRÙO›EıÁ ◊_F«X* 
(F) LXaeFÓÁ [˝ ◊à˘Ã[˝ ◊TˆX◊ªRÙO ]«FÓ EıÁÃ[˝S [˝ÓÁFÓÁ EıÃ[˝”X* 
(G) ] T«ˆÓc˜ÁÃ[˝ Y◊Ã[˝]Á„YÃ[˝ ◊[˝◊\ˆ~ Yà˘◊Tˆm◊_ ◊Eı ◊Eı ? 
(H) Ã[˝ÓÁ„\ˆX∫RÙOÁc˜OX (Ravenstein)-AÃ[˝ ]Tˆ %X«aÁ„Ã[˝ 

Y◊Ã[˝^Á„XÃ[˝ a…y a]…c˜ =‰{F EıÃ[˝”X* 
(I¯) LXaeFÓÁÃ[˝ %UÔÍX◊TˆEı GPˆX a+„EÔı ae„l˘„Y 

%Á„_ÁªJÙXÁ EıÃ[˝”X*  
(ªJÙ) ªY◊Ã[˝^Á„XÃ[˝ %UÔÍX◊TˆEı EıÁÃ[˝Sm◊_ ◊[˝‰`¿bS EıÃ[˝”X* 

◊[˝\ˆÁG - G 
3* Â^ ÂEıÁX ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 3 × 4 = 12 

(Eı) LXaeFÓÁ \…ˆ„GÁ„_Ã[˝ aep˚Á ◊VX* 
(F) Y◊Ã[˝^Á„XÃ[˝ %ÁEıbÔEı C ◊[˝EıbÔEı =YÁVÁXm◊_ ◊Eı ◊Eı ? 
(G) aÁ◊[˝ÔEı Y“LXX c˜ÁÃ[˝ ◊Eı ? 
(H) EıÁ]Ó LXaeFÓÁÃ[˝ aep˚Á ◊VX C È[˝◊`rÙÓ ◊_F«X* 
(I¯) ◊X\ˆ¤Ã[˝`›_TˆÁÃ[˝ %X«YÁTˆ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ̂  ? AÃ[˝ 

mÃ[˝”±ºˆ ◊Eı ? 
(ªJÙ) %‹ôˆf%◊\ˆ[˝ÁaX (Immigration) C [˝◊c˜YÔ◊Ã[˝^ÁX 

%◊\ˆ[˝ÁaX (Emigration)-AÃ[˝ YÁUÔEıÓ ◊_F«X* 
(ªK˜) LX-a+V %á˚_ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? 
(ªLÙ) `ÁÃ[˝›Ã[˝[˝ w¯›Ã^ HX±ºˆ ◊Eı ? 
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( English Version ) 
Group – A 

1. Answer any two questions : 10 × 2 = 20 

 a) Discuss the scope and content of 

population geography.  

 b) Give an account of the reasons behind the 

variation in the distribution of population 

in different parts of the world. 

 c) What is an age pyramid ? Explain the 

difference in the shape of the age pyramids 

for developed and developing countries 

along with the causes. 

 d) Classify migration with examples. 

Group – B 

2. Answer any three questions : 6 × 3 = 18 

 a) Write a short note on the relationship 

between population geography and other 

social sciences. 

 b) Explain the three major factors of 

population growth. 

 c) What are the different measures of 

mortality ? 

 d) State the laws of migration after 

Ravenstein. 

 e) Discuss briefly the economic composition of 

population. 

 f) Analyse the economic reasons for 

migration. 

Group – C 

3. Answer any four questions : 3 × 4 = 12 

 a) Define population geography. 

 b) What are the push and pull factors of 

migration ? 

 c) What is total fertility rate ? 

 d) Define optimum population and state its 

characteristics. 

 e) What is meant by dependency ratio ? State 

its importance. 

 f) Differentiate between immigration and 

emigration. 

 g) What is meant by population resource 

region ? 

 h) What is physiological density ? 

    


